


What’s different?

LAST NIGHT

RIGHT NOW

There was a police There is a police officer
officer pursuing a thief. giving a ticket.

There was a man There is a man
walking his dog. sweeping the street.

There were two children There are two children
fighting. playing with a ball. Q




Answer the questions

RIGHT NOW

Was there a police officer giving a ticket last night?

No, there wasn’t. There was a police officer pursuing a thief.

Is there a man walking his dog right now?

No, there isn’t. There is a man sweeping the street.

Were there two children playing with a ball last night?

No, there weren’t. There were two children fighting. @



What’s different?

= /A
LAST EVENING

There was a helicopter flying
over a CoOw.

There was a cow eating grass.

There was a boy riding a bike.

;RIGHT NOW

There is a plane looping

in the sky.

There is a sheep looking at
the plane.

There is a boy riding
a motorbike. Q



Answer the questions

&

RIGHT NOW

- LAST EVENING

Was there a plane looping in the sky last evening?

No, there wasn’t. There was a helicopter flying over a cow.
Is there a boy riding a bike right now?

No, there isn’t. There is a boy riding a motorbike.

Was there a sheep looking at a plane last evening?

No, there wasn’t. There was a cow eating grass. @




What’s different?

THIS EARLY MORNING

There was a rooster crowing.

There was a green bird
flying in the sky.

There was a boy riding a horse.
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RIGHT NOW

There is a hen incubating
some eggs.

There is a blue bird
flying in the sky.

There is a girl riding

a horse. \




Answer the questions

1]

THIS EARLY MORNING RIGHT NOW

Was there a blue bird flying in the sky this early morning?
No, there wasn’t. There was a green bird flying in the sky.
Is there a girl riding a horse right now?

No, there isn’t. There is a boy riding a horse.

Was there a hen incubating some eggs this morning?

No, there wasn’t. There was a rooster crowing.



